EARAROBREBRT —5 XN—ZXBISH—F

20245848 () 2@ERR5H

I UV VNLS =TV Y5%R3% (E)

(8% Fiin

EEE=CIEE

[AE=%] 1 7% :20,000,000 § ~ 2375:8,000,000 3 .~ 37&:5,000,000H  437&:3,00,000H  53&:2,000,000 4

ABIC OV TRUTEREERRODDZE. THRIIZEL.

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
* )~ e 3 | J. ELAS 1:59.6 4-4-5  [33.4]101.7 | 1 1492 =17 ()
118139 /vTrXOvT 57.0 ) “12) w5 voR
RIE—UR BEY—Y /=Y ITr—1L
— 4 3 | FPREX 1:59.8 4-6-5 |33.6] 99.4 | 4 484 | ERK (RR)
205|6|AYF—LL 57.0 " 1/4) “8) ) G1L—vvo
Rivad7IISY B:AUF—3 BRI 7—L
~ t 3 | dtRR— 1:59.8 2-4-3  |33.8] 9.3 | 7 400 | BBEREEE (FHR)
3Ry 5| TAINLAVET * 57.0 &E) (o) |EEREHD (%)
R:TUYIRPZYRELIIL B:IFITLRISY #HBT7—L
y 4 3 | dLREE 1:59.9 11-10-11 [33.1] 98.5 | 9 512 | BREE (ER)
41710/ 71 LA 57.0 F5%) 4 | @ TIFIL
RiFRF BiROUFRSY IXAISHT7—Ls
S5 _ s 3 | #LES 2:00.0 12-2-3 | 34.0] 97.0 | 3 502 | FERE (5H)
51711 77E3135ARY 57.0 (3/4) © RS
RIIET7RA7 8:9V59—VUx MEZS Y R
— o~ SHRR— :00. =)= . . B/OEN (ER)
6 9 | SATILNY+ 350 2(7091? EE et B (4-7(3 BE=%7
RIET7RA7 B:E—RFTS5Y FrUEFYRTF—L
o— =HEM : -7 REBAN (FR
5 8 25542 43 = z(gotl):; 9-7-8 |33.6] %.1 | M (533 % ﬁ%( )
RIN=YISA B:SYRAVY—=— J=HUT7—L
5 P B3| HREME 2:00.1 222 [34.4|91.8 | 12 | 430 |EPi— )
88|12/ TLI KUwITH 57.0 C5) © |, @) #BEL—REK—2
R:TUYIRPYREWNIIL B:AAHF—NI #HET7—L
W R 43 | AMEIGH 2:00.2 7-9-8  [33.8| 94.9 | 6 | 470 |SBUSE G5RH)
oWl 4 | Ry RTHF 57.0 172 (o) | AVIIEEHE
R:IvIFIRry ~ 8RRy RYILET SRR
=0 P R 4 3 | EDHBIE 2:00.2 13-13-13 [33.2| 95.1 | 2 452 | EKER ()
101517 | TAXATFy R 57.0 P o fErir
RiF4—IXIIATa4 BIZRZ—FvY RE 5
SINA T, — 43 | AEHESR 2:00.5 4-7-5 |34.2]91.0 | 13 | 494 |MOERAESL (553)
1 2 | ENATIL—R 57.0 a1/ (-6) | DIEEEZES
RiFvyvH/F8+ B:EUA HBEIT7—L
~ s 3 | AllsReA 2:00.5 7-10-10 | 33.9] 91.5 | 10 | 456 |EZFE= (KH)
e 3| Fr¥bozAr 57.0 NP ) | B EvILYRIZ—L
R:I=ILRYwT BRARSYTT— #wE &a)
o~ T — 3 | ERR 2:00.6 9-10-11 [33.9| 90.4 | 8 | 48 |HBER (=)
Bl | ZvPINII=T 57.0 (1/2) -4) %IJ.I#?
RiFRF BAXEUTILSAT #HET7—L
[ BN
Eh' 46.2-34.2
NOVIA L | 13.1-11.7-12.1-12.2-12.5-11.8-12.0-11.0-11.5-11.7
@ 11— —BBIEfI
13—7+—
20—7F— 9(5,12) (2,6,13) (3,4) (1,8)10,11,7
30—7— 9(12,11) (5,13)6(2,8)4(3,1,10) 7
43— — 9-12(5,11) (2,6,13) (4,8)3(1,10)7
o ILRE
B B 13 2304 JA R 6-13 390M4 & 5-8 3604 3EE 5-6-13 5,540
g B 13 150/ 5-13 1,090 5 & 6-13 880M 3EH 13-6-5 15,290
6 180F4 5-6 1,600/ =51 13-6 1,120
5 410M

20000 R




